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for the questions.

Q. No. 1 carries 1 mark each

1(a) 1x4 = 4

1) 1x2 = 2

1( 1x2 = 2

Q. Nos. 2-6 carry 2 marks each 2x5 = 10
Q. Nos. 7-11 Cah'y 3 marks each 3x5 = 15
Q. Nos. 12-18 carry 5 marks each 5x7 = 35
Q. Nos. 19-22 carry 8 marks each 8x4 = 32
Total =100
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1. (@) Fill in the blanks with appropriate word/words : 1x4=4
TR =1 IR I MU A T 2
(i) The interest due to the retiring partner is transferred to his
account in case it is not paid immediately.
G TR AZ R SIS “Aleett Bipt W SlCFemeIE 2rid S
T W, O ©@ TRt O f&3tita gieR 4t =3
(ii) A partner acts as of the firm.
TG S DT GFe IR e @
(i) In case of fixed capital, a partner’s Capital account always
showsatte anssssibalance}
A TR CFCE, G AW e o R
T8 (MR |
(iv) Unrecorded assets when realised are credited to __
Account. |
SRS F{E T4 M 27, O A s w11 =31
(b) Choose the correct alternative : 1x2=2
am Oed (@ W el e
(i) Balance Sheet shows :
Tg@ria (T 8
(1) Financial position of a company
& @ring Sifds o=
28T ACOU (BENG) [2]

N

(2) Profit and Loss of a company

G @RI AS-CETFAN

(3) Cash flow of a company
G (@FANE T AR AR

(4) All of the above.

Tl IR A |
(ii) Financial statements are :

ey iiﬁi\s@lﬁﬂ‘ 2e 8

(1) Detailed reports of the recorded facts.
TRee oY Rge afoww |

(2) Detailed reports of the cash transactions only.
syAg T EWomestE Rge afowm |

(3) Summarised reports of recorded facts.
e wrE WY Ao |

(4) Summarised reports of the financial institutions only.
vy Ren afevimefm wHre afemwe |

(c) State whether the following statements are true or false : IxI=D

@ & o%@ ETCA 8

(i) Interest on Partner’s Capital is credited to Partners’ Drawings
Account.

AR R B (7R I SRAMIER SR BE & fes =
[

(i) Life membership fee is a Revenue receipt.

GG R AT PP G0 AT LR i |

28T ACOU (BENG) [31] Contd.



8.  Mention any three objectives of financial statement analysis. 3

2. State any two features of a Not-for-profit organisation. 2
cre-azel J1 1 ASDVIER (7 @ 7/ @hey @l | | R aforwm Reser @ @ ol oy S el |
OR/ &341
3.  What is a Common Size Statement ? 2
TP (Common Size) #fSE@E 0o I (@42 Briefly explain the nature of financial statements. 3
4.  Mention any two distinctions between shares and debentures. 2 el afermmalm epfe FCw TR S |
SRHAAG € AT W A (7 (e 75 A S ! | ® ®
9. Mentic three limitations of financial statements. 3
5. What do you mean by Forfeiture of shares ? 2 SOUOIEARYEUT ST
SR MEHASTFT JoTCS F @R 2 e % e efamem @ @ o Ao BE T |
6. What do you mean by Comparative statement ? 2 OR/ @31
ST S 0o T @RI2 ' _
; . [ Explain the meaning of Ratio Analysis. 3
7.  Explain the meanl'mg of Cash Flow from Financing Activities. ) wpire Resaein s it |
RS PRITNA (A i eRiced = i S |
B
OR/ &%l ® ; Sk ) ?
10. Mention any three distinctions between Fund-based Accounting and Non-
From the following information, calculate Stock Turnover Ratio : 3 fund-based Accounting, -

FHERS ©2 (AF TGooeR SRS Sgie e @t ¢ |
JEfcfes e ¢ sHffEfefes AR W A @ @I B =ik

TE FE |

Sales (F&) = 2 4,00,000/-
Average Stock (510 Jgresiéy) = I 55,000

i g 79) = 10%
Gross Loss Ratio (C‘Sﬁﬁ CHAIFANCTT Slef ) © 28T ACOU (BENG) [5] Contd.
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OR/ 5241l
What do you mean by Income and Expenditure Account ? 3

W 8 [ IR FE0e F @_e

Amar and Bahadur are partners of a firm sharing profits in the ratio of
3:2. They admit Mery as a new partner for % th share in the future profits.
The new profit sharing ratio between Amar and Bahadur is agreed to be

2:1. Calculate their sacrificing ratio. <]

SR 8 JRF 3:2 TS A I G 2RI wemIE | ORl SitiE

SIS Va SR o) (RN gl ST (2 OGS A | O 8 R

TSR Tom S ZE 2:1 1 O SR Seite [l e |
OR/ 9231

Ranjana, Sadhana and Kamona are partners sharing profits in the ratio of
4:3:2. Ranjana retires and Sadhana and Kamona agree to share future

profits in the ratio of 5:3. Calculate the gaining ratio. 3

G, AL S FITA 4:3:2 THAITS TS T04 T AWM | G SRR &% s
el € DI SHUCS 5:3 THAS AT To TR s @11 Ssige acea
Seite fefE S|

[6]

N

12,

From the following Receipts and Payments Account for the year ended
31st March, 2017 and other details of KAZIRANGA SPORTS CLUB,
prepare an Income and Expenditure Account for the year ended 31st
March, 2017 : 5

2017 3 31 6 ©ifFcd i 28 I0d &) ey 2@ne KAZIRANGA SPORTS
CLUB~9F | € 2754 2719 8 Sy O (A 31 b, 2017-( %297 T2=9
Gej I i-‘{Fi q 2o FE 8

Receipts and Payments Account

Tl e s e
P Receipts (Sll) ®) Payments (¥90) ®)
Cash in hand on 01.04.16 10,000 | Salaries (&) 8,000
. (01.04.16 ST 2 < 7 &) Honorarium (=1 74 5,000
Sybscriptions: Sports Expenses 2,000
(o) & (TR <)
2015-16 : 1,000/-
Rent (©%) 3,000
2016-17 : 30,000/ -
2017-18 : 2,000/- 33,000 Travelling Expenses 2,000
(Scea 390)
Donation (Wi«) 7,000
Purchase of Furniture 35,000
® @ interest GW) 3,000 4
(SRR &)
Donation for Buildings 10,000
Cash in hand on 31.03.17 15,000
(SR G W)
(31.03.17 ©ifftd re AR ol o)
Life Membership Fees 7,000
(NG Y A[eT)
70,000 70,000
28T ACOU (BENG) 171 Contd.
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Additional Information :

foe ©27 ¢
() Outstanding Salaries = 2,000/ -
e (9

(i) Prepaid Rent = 1,000/-
S 2E il

OR / 941

Explain the steps in preparation of Income and Expenditure Account. 5 (] )
14.

< 2R o IR T ARG AmeEeleE iR @

Charles Ltd. made a profit of ¥ 1,00,000/- after charging depreciation of T

20,000/ -on assets and a transfer to general reserve of 2 30,000/-. The

goodwill written off was ¥ 7,000/- and gain on sale of machinery was ¥ |

3,000/-. Other information available to you (changes in the value of
current assets and current liabilities) are : debtors showed an increase of
2 6,000/ -; creditors an increase of ¥ 10,000/ -; prepaid expenses an increase
of Z 200/ -; bills receivable a decrease of Z 3,000/-; bills payable a decrease
of  4,000/- and outstanding expenses a decrease of ¥ 2,000/-.

Ascertain cash flow from operating activities. 5

Biei BRI 20,000/ - 51t Fifen Boitg o= AW Med @=R 30,000/ - BRe e
sIfee e Fa| *[ 1,00,000/- HRF F FE| 7,000/~ B N AW (7 R
g [ 6 3,000/ - Bl 711 0 | S O (OHITE (1S3 2=l (beihs i
TR BENS (Ml SCeT ~IRee) & (wemia 6,000/ - BIPE i “ANEAm 10,000/ - B
% 200/ - Sisel wifEw ewe < g 3,000/- S AR 29, 4,000/- Bl o
e g, wiems 253 2,000/- i 29T AR

AT SRR (e Fam ez @ T |

28T ACOU (BENG) [8]
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OR/ G241

Explain the terms : UG ED =0

o7 2% (term) STEAR I FE! 2

(i) Cash Equivalents
9% 9T

(ii) Cash flows
5 &AQIR

Mention any five objectives of Ratio Analysis. 5

SIS REECR (@ (@ #Apl Srrl S |
OR/ @24l

Calculate current assets of a company from the following information :
5

SRR ©2 (A G0 @R bEreTfeeE s R

Stock turnover Ratio = 4 times

TGO SO TS = 4 A
Stock at the end is 2 20,000/- more than the stock at the beginning.

(IR (%) TG ST ~AfRTie] S9R TS AR ARACI A 20,000/ - Bivt (=41 |
Sales Z 3,00,000/- and gross profit ratio is 20% of Sales.

&) 3,00,000/- BFl @ GG FCSA Selie Rl 20% |

Current liabilities = Z 40,000/ -

B5eif® (el 40,000/ - BIEl

Quick ratio = 075

TR® SgHAe = 075

[9] Contd.
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Shyam, Gagan and Ram are partners sharing profits in the ratio of 2:2:1.
On 315t March, 2017, their Balance Sheet was as follows :

TSI, 9191 8 I 2:2:1 TAICS wiie 0 1 SRR | 31 W6 2017 Sifitd ol
Cgera Wl foel 2

Balance Sheet (¥5@7q)

Liabilities (C7) (®) Assets (F{f@) (2)
Sundry Creditors 50,000| Cash (F9% 1) 5,000
iRy deam=

_ Debtors (@«9id) 20,000
Reserve (5{e7) 10,000
et Stock (TgweT) 25,000
(T & Machinery (I°11f%) 20,000
Shaym (*[1¥) : 20,000/ -
Gagan (591) : 10,000/ - Buildings (&) 30,000
Ram (3™) :10,000/4 40,000
1,00,000 1,00,000

28T ACOU (BENG)

Gagan retired on that date and Shyam and Ram agreed to share future
profits in the ratio 5:3.

S5/ ©@ ST SR &2¢ T € *IS =R T SRACS 5:3 TS &S o+ A1
=i oz @I

Stock, Machinery and Buildings were revalued at 2 20,000/-, 2 15,000/ -
and % 45,000/~ respectively.

TGS, IS @ & AT 20,000/ - 5w, 15,000/ - BIF1 € 45,000/ - Bivice
FT T 26 |

Prepare Revaluation Account and Partners’ Capital Account.

FTNE 277 @ SeNTiEE T =2 4Fe B |
OR/ &%t

Prepare the new format of the Balance Sheet of a company with the major
headings only. 5

SYIG AFCRT FCER 3 G5 @A SFesiad Mo Sl ewe e |

2Y2+21/>=5

[10]

16.

Mohit, Shohan and Rahul were partners sharing profits in the ratio of
2:2:1. Their Balance Sheet as on 315t March, 2017 was as follows :

Gif2e, IR € e 2:2:1 SIS FS 09 SCa SImE | 31 5 2017 SifFc
it Bgesia e (el &Reel e ¢

Balance Sheet (T%€?q)

Liabilities (C%a) @) Assets (F7iT@) @)
Capital : Fixed Assets 60,000
(3FTEm) ¢ (21T 7Afe)

Mohit 30,000/ - I
Shohan : 20,000/ Stock (Tgo71°Y) C
Rahul 20,000/ - 70,000 Sundry Debtors 20,000
General Reserve 5,000 (RRa c=mR)
(et #ffen) Cash at Bank 10,000
Creditors 25,000 (m AR ;:{ﬁﬁ' W‘Qf)
(=lhexvid)
1,00,000 1,00,000

28T ACOU (BENG)

Shohan died on June 30, 2017. It was agreed between the remaining
partners and his executors that :

20173 30 G CIIRIER Jgj 2 | OF Cediiaal ¢ S[EE SHTMReE T4 pie =/
(I
(i) Goodwill will be valued at ¥ 50,000/ -.
I 3 50,000/ - BIel &= = |
(ii) Interest on capital be provided at 10% p.a.
TR OAR I =G o 10% & 2@ |

(iii) Profit for the year 2017-18 be taken as having accrued at the same
rate as that of the previous year which was ¥ 40,000/ -.

2017-18 AIEH s1® Rore I2EE FTNYE A I 471 @ IR AR B
40,000/ - BI¥ |

] Contd.
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(tv) The amount due to Shohan shall be transferred to his Executors’
Loan Account.

FIRE @ oY R SERiiEmaE W BoE @@ R geie 9 2@ |

Prepare Shohan’s Capital Account as on the date of his death. 5
CIRIR o5 Sifard ©fF R 231 2vge @l |
OR/ 9194

- What is Partnership Deed ? Mention any three distinctions between Fixed

and Fluctuating Capital Accounts of partners. 2+:3=5

SR Wi JeT0e B @R SRAMIEE 1 ere @R ¢ wiEE e SeE
My AR (I o 2Ny Srmd T |

SONU and ASHU were partners sharing profits in the ratio of 3:1. Their
Balance Sheet as on 315t March, 2017 was as follows :

7 8 UG 3:1 Seiice aire [Reae F@ SimE 21| 2017 AER 31 36 Sifiey
Sitma Tgerla et f2e ¢

Balance Sheet (Tg@7@)

Liabilities (C7=1) (€3] Assets (7I(@) ®)
Creditors (#/leqviF) 10,000| Cash at Bank 20,000
Loan () 20,000 | (UIC=E S=1t)

Capital : Sundry Assets 70,000
(FTE) ¢ (RfFg 71~fe)

SONU = 50,000/- Profit and Loss Account 40,000

ASHU = 50,000/- 1,00,000| (Fre-cetiaae 23019)

1,30,000 1,30,000
28T ACOU (BENG) [12]
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The firm was dissolved on the above date. The assets were realised at 2

50,000/ -. Creditors were paid at a discount of 20%. SONU agreed to pay
off the Loan. Realisation expenses were ¥ 2,000/-. Prepare Realisation

Account, Bank Account and Partners Capital Account. 5

ToilFe wifrd AR SRR 90 | =ife [ S0 50,000/ - GBI i 27 |
Sl 20% AABITS ~AfRcey T 2 | 76 3 ARG TS G 2 | I
<55 ZafeE 2,000/ Bl | SMIGER &R, TE AN @ SRR A B

oo Il
OR/ &%41

What do you mean by Dissolution of a Partnership ? State three grounds

for Dissolution of Partnership. D4+3=5

T RIS TS B Rz AR SRR [ <R See |

Explain the terms ‘Over-subscription” and ‘Under-subscription” of Shares.

2o+214=5
AT RTINS &R FA-TIS JIRIT A |
OR/ &

What is a ‘Preference Share’ ? Mention the different types of Preference

Shares. 2+3=5

ST SN’ S B @R ¢ SelfERIE S [Kiow avRmE S
Sall

[13] Contd.



19. Following is the Trial Balance of RAM and SHYAM as on 315t March, 2017 :
31 5, 2017 ifFcd 3% ¢ *Hv Tge flew “@v e (e 2@ ¢

Dr. Trial Balance (5% Se-oi@) Cr,
Particulars (q339) ®) Particulars (f=e) ®)
Plant and Machinery 10,000 | Capital Accounts :
e @ EAIfS EEA 29 ¢
Freight on Sales 3,000 RAM = 36,000
R siffazs <=5 iR
Publicity 2,000 SHYAM = 40,000
Releig Tl 76,000
Land and Buildings 50,000 | Trading Account
il ¢ T 77 Rew 2R
Sundry Debtors 10,000 —Gross Profit 60,000
Ry @mE _Ii5 e
Bad debt 2,000
@Wﬁw S0 Creditors 12,000
Cash at Bank 15,000 | =S«
JeE A T =
Investments 8,000 | Bank Loan 8,000
[SiEEIR! [IE A
Cash in hand 1,000
Bite A TS5 el Bills payable 6,000
Salaries 12,000 | ¥ e
(e
Rent 8,000
©I)
Stock 25,000
Ty
Drawings :
=g 2

RAM = 6,000

B

SHYAM = 10,000

#7151 16,000

1,62,000 [ 1,62,000

28T ACOU (BENG) [14]
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Prepare a Profit and Loss Account and the Profit and Loss Appropriation
Account of the firm for the year ended 315t March, 2017 and a Balance

Sheet as on that date, after taking into consideration the following
additional information : 8
0y ore SfoRe SR [Eeal T 31 Wb 2017 O (17 2671 IE T
SR 2R @ e-Een e IR ¢ e Wikt afovis
Tgeiq dge T 5
(i) - Outstanding Salaries ¥ 3,000/-.

e (I |

(ii) Ram will get a Commission of 10,000/~ for the year.
AW I=(Ba T 10,000/ - BRFl Wl AN |

Hunda Limited issued 10,000 equity shares of 100 each payable as follows :
g 20/- on application
g 30/- on allotment
Z 20/- on first call
g 30/- on second and final call.

10,000 shares were applied for and allotted. All money due was received
with the exception of both the calls on 300 shares held by SUPRIYA. These

shares were forfeited. Give necessary journal entries. 8

=t G 10,000 Bt 100/- BIPR ARG IS R0 SR T R e ¢

i 20/ - Bl |
QB 30/ - Ol |
ey e 20/ - Il |
ROl 6 pUlE e 30/- I |
10,000 Bl ST &Y AT CHATH TR 1 2T | R FeA AR 300 B

it Ton weEd oY QU JAH A TS o Sl e | @R Sisge
Aiemie = 2 | SREIRIE S SRR WS |

[15] Contd.
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OR / 912t
Write short notes on : 2x4=8

TR Bil @Il 3

(i) Re-issue of forfeited shares

TG SHTER AR

(i) Calls in Arrears
A el e

(iii) Calls in Advance
wfaw weat o

(iv) Reserve Capital.
TR oI |

X Ltd. issued 5,000, 16% debentures of ¥ 100/- each at a discount of 5%
repayable after 5 years at a premium of 5%.

You are required to pass necessary journal entries and show the “Loss on
Issue of Debentures Account” over the period of five years. 8

X-TEfes 5 a9@@ 9 5% SRE AREICEST 5,000 T 100/ - 50F 16% =@
5% AMGice Rl T | SRR Sl 2R wie @ “aeaig [ 721 =fe Zoe”
b TREI T qAS |

OR/ 9241

What is meant by a debenture ? Explain the different types of debentures.
2+6=8

Yoiolg TETce S @R [fen @i o=t [0 FE& |

28T ACOU (BENG) [16]

A and B are partners sharing profits in the ratio of 3:2. Their Balance Sheet
as on 31t March, 2017 was as follows :

A3 B 3:2 SFAICO 511G I54 H( SR | 31 Wb, 2017 OIfRCR ©itr ©geid W
el & ¢

Balance Sheet

(Tgeia)
Liabilities (=) ®) Assets (7€) ®
Sundry Creditors 20,000 | Cash in hand 3,000
R steamix S A 5w =
Capital : Sundry Debtors 12,000
AT /R cme
A = 30,000/-
B = 20,000/- Stock 15,000
50,000 | STero#iey
Furniture 10,000
R2IMEIEE ]
Machinery 30,000
IS
70,000 70,000

C was admitted as a new partner on the following terms and conditions :

o *SAATE C-F Tod JAHMIF AR (e =@ 8

(i) C will bring ¥ 15,000/- for capital and ¥ 5,000/- for his share of
Goodwill for 1/6 th share in the future profits.
C EueE & 15,000/- ORR € =TSR 1/6 SRCW U N IRW
5,000/- GBIl (A1

28T ACOU (BENG) [17] Contd.



(iv) For payment of liabilities.
(i) The value of stock to be reduced by Z 2,000/- and that of Machinery

= SRR S |
be increased by % 8,000/-.
TGO I 2,000/ - BIFl 2 #{ic< '@ T@AISR =5 8,000/ - Bt g =t (v) For payment of Realisation Expenses.

.t SRR 26 AR e |

(it)) The value of furniture to be fixed at % 9,000/-.
SFRIR#ACE =T 9,000/ - Site F = 2@ |

(vi) For realisation of unrecorded assets.

Gifoiam w1l oA TS SN G |
Pass journal entries in the books of the firm and prepare the Balance Sheet P ' ®
of the new firm. By (vii) For transfer of the balance of General Reserve Account.
A ©87IY s A | g el S AW AP TRe ISR T |

OR/ &2

¢ (viii) For payment of Partner’s Loan.

Give journal entries on dissolution of a Partnership firm in respect of the

S AR A A6 ARCNCEE Sy |

following : 1x8=8 ‘ .
ORI AT SRR {5 (67l SRR &) wiew effme s |
(i) For transfer of assets. Y

T8 AR & | o ®
(ii)) For sale of assets.

Tife [ife 2|
(11i) If any partner takes over any asset.

(I SIAE 794G ezl T |

28T ACOU (BENG) [19]

28T ACOU (BENG) [18]



